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Reciprocal Identities

1 1
CSC X = — Sec X = cotx= —
51N x COS X tan x
Quotient Identities
sin x cos
tan x = cot x = —)4
COS X sin x

The three forms of the Pythagorean identity are
cos’ B +sin*B =1 cot?® + 1 = csc? O 1+ tan* 6 = sec” 0

The sum 1dentities are
sin (A 4+ B) = sin A cos B 4+ cos A sin B
cos (A + B)=cos Acos B — sin A sin B
_ tanA +tan B
tan (A+B) = I mAtanB

The three angle difference identities are
gin (A — B)=sin Acos B — cos A sin B
cos (A— B)=cos Acos B 4 sin Asin B
_ tan A — tan B
tan (A = B) = T tan A ten B

The double-angle identities are
gin 2ZA = 2 sin A cos A
cos 2A =cos® A — sin* A

_ 2tanA
tan 2A = =
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tan @ = s1n o
cosf
cotd = C_OSQ
s &
csc = ,1
sin &
secd =
cos
cotd = 1
tan &

Trig Identities

sin® @ + cos” § =1
tan® 0 +1 = sec’

1+cot26' =05026

sin & = !
csc O

cos = 1
sec &/

tan@ = !

cot &
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sin (x + 1) = SN X COS ¥+ Ccos xsin y

sin(_x — y)=sin xcos y—cosxsin y

c-os( X+ ) )=cosxcosy—sin xsin y

cos(x—1)=cosxcos y+sin xsin y

sin28=2smécosd

cos28=cos’ @—sin’ @
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P
e
cos® x—sin® x COSX —SMN X

2 .
Cos™ X+ XYoot X e, COU5X

Conm
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